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T BIYELR
= 1 189, 784, 307
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= 1 30, 867, 310
Fe AL T
= 1 30, 867, 310
b S Hb SRIEE (A HE LR~ 5258 et
)
= 1 5, 061, 600
T Hb S E RAE L (W) FRaEE: ORIESE~
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= 1 3,978, 000
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)
Y 0 0
i S R SR RIEE~ 5 St
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= 1 6, 130, 600
FEA (V-27) Hh RN T ImEA - 2mA i
Y 0 0
FEA (V-27) Hh RN T ImEA L 2mAR i
= 1 856, 350
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m2 213 11, 860 2,526, 180
EVRIIRAS JZ 10cm

m2 0 15, 331 0
EVRIIRAS JZ 10cm

m2 883 15, 059 13, 297, 097
RARTR A SD345 D19 L=2.50m/A ¢ 65 HiFL

2. 36m/A

VN 106 89, 142 9, 449, 052
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3. 36m/A

VN 159 122, 904 19, 541, 736
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1 29, 260
W5y EEE R N IFVE ¢ 600mm 47
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RAEXSEE W) TR
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§=7" W=t (ROBA) FIEka
1 5,023, 407
PRS- Bl T
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AW B
= 1 13, 497, 550
B TR
= 1 189, 784, 307
I L
= 1 57, 522, 603
IR
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A R
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= 1 796, 369
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= 80, 340
AR T i
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AR T 1R
= 0
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(e
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et By
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= 1 385, 594, 000

I
I3
I
H

P E i 3 L




